Percentages with and without a calculator
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Worded Questions.

1).  Astereo costs £320. In a sale it is reduced by 25%. What is the sale price ?

2).  Anantique clock cost £540. It's price is increased by 18% in a year. What is it now worth ?

3). £600 is put in a bank. Afier a year the money has increased by 8%.
How much is now in the bank ?

o
7,
4).  Asccond-hand car costs £2400. The price falls by 45% when it is
sold again. How much is it sold for ? %

i
5). Ascason ticket for Bolton F.C. this season costs £410. Itis to go up by 349 next scason.
How much will a season ticket cost nex son

6). A shirt is slightly shop soiled so it is reduced by 30%. It was £40.50, how much is it to be
sold for ?

7). The bill for a meal came to £65.40 plus 15% service charge. What was the total bill ?

8).  In Durry's winter sale the following items were offered at 35% reductions.
Find the sale price.
). Stereo £340  b). Television £620 ).  Video recorder £180
d). Walkman £18 e). Camcorder£1200  f). Blender £6.

9).  Asalesperson cams £16000 a year. She is offered a rise of 22%. How much will she now
receive ? ey
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10).

11).

12).

13).

14).

15).

Arotund gentleman weighs 92 Kg. After two months at weight watchers
he loses 20% of his weight. How heavy is he now ?

‘The number of pupils in a school rises by 8%. There used to be 850
pupils, how many are there now ? %

e Spice Girls latest single sells 40% fewer singles this week than last I
week. Last week it sold 120 000 singles. How many did it sel this week ? ®

Atown had a population of 26 200. The total fell by 8%. What is the new population ?

A woman buys a house for £62 000. Ten years later she sells it for a 30% profit. How much
docs she sell the house for ?

Ina terrible storm 45% of the trees in a forest are felled. If the forest orig
trees, how many are left standing ?
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